
PRIVACY DIVIDER ASSEMBLY INSTRUCTIONS

A Screen 350x180cm x1

B Ground 
fasten bar 350x180cm x1

C Plugs M8 x 40mm x4

C1 Plugs M10 x 50mm x4

D Screw M6 x 50mm x4

E washer M6 x4

F screw M8 x 70mm x4
SKU: FGOPDGRY

If you have any questions regarding our products, please visit us at www.displays2go.com or contact D2G customer service at 844-221-3388.



G washer M8 x4

The following tools are required for assembly:

Drill with stone 
drill 10mm

Measuring tape with
at least 400 cm
Length

Installation of the side awning

Wrench Phillips Head 
screwdriver

Scan QR code to visit product page



 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     创建一个新文档
     序列： 骑马订
     印张大小： 足够的大小，比例100%（不缩放）
     前后： 标准
     排列： 各页面上下居中，对靠于印张中央
      

        
     0
     CentreSpine
     Inline
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     0
     0
     16
     Single
     1222
     412
    
     0
     Sufficient
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

   1
  

 HistoryList_V1
 qi2base





